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 
 

 
)5(  
  1 2V L      0

1 20T C   
2T2 2,5V L 

1 2T 
2 n2V 

510P pa 
3 1P bar015T C؟ 
4 2T2V

 
   

  3V1 18,31 . .R j k mol  
)6( 

   0C ( )S    3 2( )Mg NO  
              

( )f C 01 
   ( )S     10K cm 

25G ms 
1 

 
2 ( )S 
3 0C 
4 2Mg 

3NO  
5 

3

2 17,14 . .
NO

ms m mol 


2Mg
  

6 a( )f C  
  ( )f C  

  a
3NO

 2Mg
  

 0    0,002   0,004   0,006   0,008   0,010   0,012 
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 = f ( C ) 
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)5( 

1A 2A   1B


 2B


    M
)01( 1 8B mT2 6B mT 

1 1 2cm mT1B


2B


 
2 B


1B


2B


M 

3 B


M 
4 B


2B


 

5 3A1A1A
M1A)02(. 
1 B 


1B


2B


3B


 

2 B 


 

 
)4( 

           100m g 
 020t C      

010 C
 

1ABC 
2 
3

lQgQ 

4sQ 
4185 / ( . )ec J kg K2090 / ( . )gc J kg K330 /fL J g  


 
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